*AAT 									Name: ___________________________
Chapter 2:  2-3 Quadratic Equations (IC/HW)-Day 1		Date: ___________ Period: __________
Solve the equation by factoring.

1. [bookmark: _GoBack] 6x2 + x – 12 = 0				2.  15x2 – 12 = -8x			3.  2x(4x + 15) = 27






       4.  75x2 + 35x – 10 = 0			5.  12x2 + 60x + 75 = 0			6.  4x2 – 72x + 324 = 0


 




       7.  			8.  			9.  










       Determine whether the two equations are equivalent.

      15.  (a)  x2 = 16, x = 4								(b)  x = , x = 3







       Solve.

      16.  x2 = 169		17.  25x2 = 9		      18.  (x-3)2 = 17		19.  4(x+2)2 = 11

